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Viola

Der Hochzeitswalzer
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Der Hochzeitswalzer

Violoncello
Andreas Sain
Tempo di valse /=192
Einleitung
': o Le) ._l o i | | | i | |
. AR A | | | | |
i i
p
9
S S o
) OF -3 | | | - y 4 4 4 y 4
. A _I'I;IL | | | F.N F.N r.y F.N
cresc.
16 ~
TS YO N — N — N 1
) O y i 4 4 4 y i 4 4 y 4 | y i y i y 4 P- il
. A % P.N PN P P P.N PN PN ‘A | ‘A ‘A ‘A i %
dim sfz
22 Walzer Nr. 1
Fon YO dm 109 | -|P- -|P- ®
O Il - D — i o
7 I !
p
30
. o o |
. o e e :
o1l |
P -
38 |1, ||2 | Walzer Nr.2 - -
P> N o ze | & ®
o e y a— S — o117 - il —
ey & 1l F.N r.N F.N r. 9|
o Tl I
p
45
o - —
7. ® ® I i
51
| - » | » el
5— | +— — " =
- : : I ¢ € I I

|
Copyright © 2013 J



Violoncello

o

o

57

).

64

i

i

>

Walzer Nr. 3

Eingang

72

o
mp

o

4l

BP

8o

LR

i

86

pp

Walzer Nr. 4

91

o)

J O
.4

99

Walzer Nr. 5

107

o)
) O

114

=
I

I

a

y 4
r.N
¢

i

Z b

|4
) L]

Walzer Nr. 6

AS

122

o)




Violoncello

130

138

o)
) O

145

151

‘.'

el e,

.

:

o)
|

CODA

157

ra X

Je 7

163

e

y -2
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